New Question Type Samplers — Grade 8 RLA Answer Key

Maximum
It?r.n Item Type .TEKS Number Correct Answer(s)
Position Alignment .
of Points
Praising
1 Multiselect 8.2.B 2 and
Advocating
2 Text Entry 8.9.E 1 first
Part A: Option C
. Part B: Option D
3 Multipart 8.9-A 2 The student must choose Part A, option C to receive
partial credit (1 point).
Match Table Include in a Summary: Rows 1, 3 and 4
4 Grid 8.6.D 2 Do Not Include in a Summary: Row 2
*A rubric is used to determine the score for a short
constructed response.
Short A correct response could be similar to the following:
5 Constructed 8.7.B 2 Although Anthony thinks his grandfather’s cooking is
Response “just awful,” he recalls his day with his grandfather
and pretends to love the food “I...l...love it.” Anthony’s
behavior leads to a positive resolution of the plot.
*A rubric is used to determine the score for an
extended constructed response.
Extended A correct response could inv.ol've a student providing
6 Constructed 3.6.B 5 an exte.nded response explaining how Anthony Iearns
Response new things about Grandpa as he spends the day with
him, which leads to greater understanding. The
student would need to provide thorough evidence
from the selection to support this controlling idea.
To show scientific evidence for the researchers’ theory
. and
/ Multiselect 8.9.A 2 To build to the point that recognizing logos is more
important than memorizing them
3 Match Table 8.5 H 5 Statement Supported by Both Studies: Rows 1 and 4
Grid e Statement Supported by One Study: Rows 2 and 3
Part A: Option B
. . Part B: Option D
9 Multipart 8.8.D.i 2 The student must choose Part A, option B to receive
partial credit (1 point).
10 Text Entry 8.2.B 1 familiarity
Short *A rubric is used to determine the score for a short
11 Constructed 8.5.F 2 constructed response.
Response A correct response could be similar to the following:




Maximum

It?r.n Item Type .TEKS Number Correct Answer(s)
Position Alignment .
of Points
Business experts may see the value in a logo because
“Gist” memory allows a recognizable logo to be
associated with a particular product and may
strengthen consumer confidence in that product.
“When people are able to recognize an image, it can
make them feel like they really know the product
behind the logo.”
*A rubric is used to determine the score for a short
Short constructed response.
12 Constructed 8.10.C 1 A correct response could be similar to the following:
Response Designing an exciting roller-coaster ride involves
imagination, creativity, and science.
*A rubric is used to determine the score for a short
Short constructed response.
13 Constructed 3.10.C 1 A cqrrect response could be S|m|!ar.to the following:
Response Designers must understand the limits these forces

create when building and improving their roller
coasters.

14 Inline Choice 8.10.C 1 aspect

15 Inline Choice 8.10.Bi 1 For example

16 Inline Choice 8.10.Dvi 1 me; even if he does,

17 Inline Choice 8.10.Dv 1 Terra Vista Middle School basketball jersey
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